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(i) 3481 =
A mew liquid mixture is prepared by combining
1% liters of liquid A, 2 ¥ liters of liquid B and
7% liters of liquid C. How many liters of the
new mixture is prepared?
1Y eT W T A, 2 WX W wd B 3R

7% ¥ wE e C = Reren v A e B
dar e w21 Reeer e W faswr duw e
wry

Solve the following :
el & 7 o
(i) 6191396 + 1681963 + 5837511 =
(ii) Factorize the quadratic: 21x* + 25x - 56.
foam = s w5 20k + 25% - 56,
Explain the concept of Baudhayana Theorem as

presented in the Bewdhayana Sulbasutra and

provide one proof of the theorem.
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Instructions for Candidates

1. Write your Rell No. on the top immediately on receipt
of this question paper.

2. Answers may be written either in English or Hindy;
but the same medium should be used throughout th
paper.

3. Question No. 1 is compulsory.

4. Answer any twe questions [rom question nos. 2 1o 4.
5. All questions carry equal marks.
6. Use of calculators is not allowed.

7. Mention the Vedic Mathematics Sutra and Suhsuira
used to solve the question.
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Attempt any four of the follewing :
e § ¥ ¢ ar e kg
) e + 2ETHOS = THAG5E

() e ¥ 88 = 23049

Fa

(iv) 6827 x 9999 =
(v} Convert to normal : 43635775,

e ¥ wed . 43635775
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(a) At a party, 1/ of the people is wearing formal
clothes, 2/3™ of the people is wearing semi-
formal clothes, and the remaining iO are wearing
casual clothes., How many people are there in
total at the party?

TE WE W, 14 AN ¥ s W e g 2,
2/3 WAl F - siwaRe =R 9=y & Ak AW 1o
Al ¥ AgeE B w1 vl Ao ey W
#7?

(b} Explain the concept of Baudhayana Sulbasutra
for approximating the value of pi. Determine the
approximate value of the circumference of a
circle whose length of the diameter is 20. Apply
Vedic mathematics techniques to execute the

calculations.

g B AW & et & o durm gema &
FAART B TG TH g A IR = s e
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% T aRw afm woda = ow

(a) Solve the following :
FefoReam =) ee o

(1) 96x96x96=______




